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1. 39 fAhed &1 TFer HY ST AR 3eR-Tg
¥ 38 YR HeOd § [ JhR qEr 3e-Heg
Ugel IER-HE @ et B

LPCK : QUHP : : HRMT : ?

A. LWSY

B. MVRZ

C. NWSY

D. MWRY

2. IS99 9&R 'Pain' &7 ¥&Y 'Agony' ¥ § 34T
R 'Angry’ &1 &Y fFad gl

A. Ecstasy

B. Bitterness

C. Grandiosity

D. Furious

3. 3 HEA-ZIA HT IhA H, forEH ar e’
oA HT & eV T g

12 : 102

A. 14 : 126

B. 8 : 68
C. 6 :52
D. 16 : 218

4. 30 Usc-FIA H TIA F SHH aF Aee 34
YR Heftd § 98 yohR Feafafad aee-gaa
# oY ersg wefed g

STEAT; A del

A. G 3TeTSOT

B. dmeT: T

C. 9RT; UATHCT

D. =&Y : 3eé

[
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5. 3H HEA-ZTH HT 98 Y [G@H & e
gaH &1 & &V Hefed g
19 : 380

A. 12 : 146

B. 17 : 289

C. 14 : 196

D. 13 : 182

6. 38 fahed &7 T HY SN AW 3ER-THE
¥ 38 YR TR § 99 R g@u 3ER-
TAF U6 IE-TIE ¥ HaUd g
KSDO : NPGL : : SBJY : ?

A. VZMW

B. WYNV
C. VYNW
D. VYMV

7. 38 Usg, IA HT TG HY ST &) Ase 34
YR T § 58 JhR Heafafad aea oo
H oy Usg Tafad g
JE TR

A. TehIel: lefel

B. 3nfoheae: theret

C. SoNfeAaR: ddheilehl
D. #Ffae: MeEAd

8. 3T UE-FIA F UL HY TSHH 2y eueg 34
YR Tt § 5 yohR Aefafad ase-gaa
H oy eusg gafad g
Strarea: Sfrares faarer
A. o @ 9IfoT fa=Ae

B. Tl : @alel et
C. ®as : dara faa=T
D. 9ey : goaeafa et
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9. 38 fadhed & T¥A Y S AW 3ER-THE
¥ 38 geR HEOd § O TRR GE 3ER-
AL TE HEW-TAE ¥ Hefed g

RDPC : NHLG : : SKDG : ?

A. NOYK

B. OOYK

C. 00ZK

D. OPZK

10. A=Ifaf@a vesT F Ru ¥ R[Feur & @
TreftT aeg 39 A g

g gRET 7 0 ?

A. 9Rf&r : ater

B. ga : uRf&

C. 9R&A : I

D. &whel : 3

11, i@ g2 # QU 9 fahedl & &
wHsfa FE 35 A g

15: 17::23: ?

A. 24

B. 27

C. 25

D. 35

12. Aefof@a gea & Re ¥ et &
grftra aem/aeRt i gfav)

PGY : JAS : VIK: ?

A. PCD

B. RDE

C. PCE

D. RDF

13. T yoR IR/ F1 geg ' F & 349
Y "SherTel’ had Hefod gl
A. A¥cUS
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B. 37T

C. g3
D. ¥R

14. 38 Ase-7A T T HL ST ar e 34
YR HfAT & 58 9hR fefaf@d eree-g7a
# o1 g wafad g
AWl : e

A. geg fa=itet : Johd
B. afyfr : a7

C. Tasfa e : Fa%
D. wifor AR : aaEafa

15. 38 fashed @l a0l HY S AR ER-THE
¥ 38 YR TR § 99 TR g@u 3ER-
THE U6 IEN-TIE ¥ HaUd g
LENOVO : EKISSQ :: FINGER :

A. YOIBT

B. YOIKBT

C. YNIKBT

D. YOIKCT

16. 39 Asc-Z7H T T AT S al e 34T
YR Hftd § 98 yoR Seafafad aee-g7a
# oY orsg Tefa g
5ol © oAl
A. e : TwFHAT
B. o9 : ST

C. ThIeReX : &l
D. 3llas : A

17. 38 g TA & 9T H A o qsa
3 YR Ffd 8 99 9ehR QT 7T e oA
H oy ersg wefed §

faaferr : aftsaeReca
A. IAEH : gAEAaA
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B. MiEears ; sfocardifoee
C. 3THwoT : el
D. AR : el

18. fArafaf@a wea i Ru v ReFeat & &
waft snt # gl

? :LLH :: RMS : SLU
A. NMK

B. KMF

C. MKF

D. MMF

19. fqU 91T fawedl A & Hafd 2req/3aR/aET
&I giav|

64 : 8 :289 :7

A. 17

B. 27

C. 26

D. 19

20. fu v fOeeul # & TE™d Usg/ 38R
[aEar i giAv |

OFFICIAL : QHHKEKCN : : LANGUAGE : ?
A. NCPWICIG

B. NCPIWCIG

C. NCPIWICG

D. NCPIWCGI

21. QU v faeedt & @ @Efdd s/ 316W
[aear it giav |

SPINSTER : ROHMRSDQ : : SEMESTER :
?

A. RDDLRSDQ

B. RDLDSRDQ

C. RDLDRSDQ

D. RDLDRDSQ

t]BYJUS

22. Bu T R{dhedt 7 § WAfAT IR F gAT
I

TC:EV::NS:?

A. QT

B. LK

C. PU

D. UP

23. fAFAT @ g A f&U a0 fashedl # &
AT qEdr 1 A

5:100 : : 6 :?
A. 180

B. 150

C. 160

D. 170

24, AFAfaf@a ved # QU v foweut & &
AT 37ERT H1 AT

IJ:PR::?:8SU

A I

B. LM

C. EF

D. LI

25. BT ¥ fashedl # @ HeFaleud UAsa/38RI/
qEgT B Glaw |

WD :TF:: TG : ?

A. QR

B. IQ

C. Ql
D. IP

e RU v el # ¥ grafewa Uusa/
FERI/EEAT &1 giAv |

26. 7 : 42 . 8 :?

A. 48
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B. 49
C. 57
D. 50

27. 39 VEA-IeHA F 947 HY foweT o Feand
30 AR TeftT § O yeR Aefaf@a gear-
oA &Y 3 JEA’ e fed

7 : 56

A. 13 : 173
B. 11 : 121
C.9:90
D. 6 : 36

28. 3W fweq & T H S W IER-THE
¥ 34 9PR HEfod & O TR gEr InR-
T To IBN-TIE ¥ Hafea B

BEH : FJN :: ILO : 2

A. MQU

B. MQV

C. MOU

D. MOV

29. f9E YR ‘G & @9y e & § 38
YehR o' &l HaY fherd 'R

A. 93

B. AT

C. o

D. olgr

30. 38 HEA-IH F Tq F w9 o HE&Aqd

[
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D.7:53

31. 5@ R '«afed & d&y ‘Wz a § 34
YR ‘B hEd d&afid B
A. FoIrd

B. f&atam

C.

D. 9RarR

32. 39 e & TT FY S MW IHER-JIA
¥ 3 IR HafAd & O TR g@ 3de-ge A
TEe 3ER-GIA & wafAd ¥
DH:HL:: GK:?

A. KO

B. LO

C. LM

D. KL

33. 3 - T TAS HX forwal ar Aqeq 3T
TR Feid ¢ O yeR Fefafd aee-gen
# ar o Hafed gl
qu : O

A. sdshdls : dleh
B. i : 3T

C. gl : gy

D. J&ar : A

34. 3H UsE-FIA & TIA HX THH 2T s 3
YR FefAd § 59 ghR RAefafad aee goa
H oy s gafad g
SR SR

A. g&Ter: T
B. d=fer: faQdws
C. RfFcas: 3TaR
D. ENIaReT: faemeT
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35. 38 WEA-GIH T U I ST & s
oA &1 a1 el Heed gl

8 :128
A. 10 : 220
B. 9 : 152
C. 12 : 288
D. 6 : 82

36. 3 AE-FIA F T X foraa aF e 34l
YR Heftd § 98 yoR Feafafad aee-gaa
# ar e Hafa gl

IR . ¥

A. |cHTd : Jo

B. g7l : Sciaie

C. frew : g&éege

D. 394 : ErETT-eld

37. 9@ YR ‘I 1 HEY HellcHoi & § 38
YR ‘g fhaw GEfd Bl

A. E&T JFR

B. AT R

C. I&d aTg

D. gHaT

38. 3H HEA-FIA & I A fFHH & &’
3 yeR wafd § 59 9eR T v HEdr-
gaH & & gEa geftd g

25 : 600

A. 16 : 256

B. 18 : 306

C. 20 : 420

D. 14 : 210

39. 9 yR ‘TRET QAT &1 6 Afgar
¥ § 3 ypR SraRfecar fFea ge§fa gl

[
i

-
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A. 39TR

B. s=o

C. gy
9

D. AlId

40. 39 Ase-ZIH HT T HY ST e e 34
YR HfAT & 58 9hR fAefaf@d eree-g7a
# or eree HSRA B
ColTIeT: AR

A. TohfaeeT: FAREA
B. grex: forsrelr

C. fpat: 39T

D. TIR FHoR: Ul

41. 38 TEII-g7H HT 99 B e ar gt
IH T & &V FEEd &
4 : 49

A. 8 : 144

B. 6 : 64

C.7:100
D. 5: 81
42. 38 GEII-TH HT 99 Y forEH ar gt
IIH T & &IV FEEd &
53 : 477

A. 55 : 525

B. 43 : 367

C. 45 : 460

D. 39 : 351

43. T9H YR ‘HE AgAd & T "Tholdl I
g 341 9o e fhad @efad
A. gUs
B. §HST
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C. qio
D. &R

44. 38 HCI-GIH HT GG B A & HEaw
33 R wefad § o E g Aeafafad aear-
oA HT ar wEat et g

442 : 21

A. 257 : 16

B. 323 : 19

C. 223: 13

D. 238 : 14

45. 37 OFhed FI I HY ST T &I |
38 ghR TR & o TR g@ll dEdr ggelr
TE&IT ¥ efd §

81 :63 74 :

A. 13

B. 23

C. 43

D. 33

46. S UPR ‘P’ A HEY GO T § 34T
YR ‘FAAR T e Fad gl

A AT

B. oIRT

C. ¥a1d

D. &

[
i
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47. 39 faohed & T3 Y Sl Y 3HeW qHg
O 34T YR FeTOT g 7 TR gl e Heg
Igd &R T ¥ HAd B
GATE : HXYX = SINK :
A. TGSE

B. TETD

C. TESD

D. TFSD

48. 59 9 ‘ReaAdiew’, ‘arRE’ ¥ gafda §
3 YR ‘e fHad GefdT gl
A. JIEIS3T

B. Sfraroy

C.

D. &ds$h

49. rfaf@a wea # f&u v fOwedl & &
T 37ERT H1 AT
MOXT : PRAW :: DGFI : ?
A. GILJ

B. LGIJ

C. GJIL

D. GJLI

50. ffaf@a wea & Ru sw Qwear & @
Wt T # g
9713: 64 :: 6921: ?
A. 312

B. 225

C. 401

D. 125
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#H##ANSWERS#H##
1;SAns. D. K S D o
i = & " +3l -3[+3 -3l
N P G L
%5 =5 T 25 Similarly,
l ) l l l S B 3] Y
S 4+ 4
Similarly, vV Y M v
H R M 3
Hence, the correct answer is option D.
l‘f 5 l‘»‘ \; 7. Ans. D.
Relationship is- worker: its work
M w R ) §
As, Waiter serves in the restaurant.
3 H@E 3 fAdea D § | o _ _ _
5 A b Similarly, Mechanic does repair work in the
. Ans. D.

Pain is synonym of agony and furious is the
synonym of angry.

Hence, the correct answer is option D.

3. Ans. B.

o8 &R,

12x9-12+2 = 102

34T 9K,

8x9-8+2 = 68

T GEY 3R qhod B ¥ |

4. Ans. B.

As ‘Zinc’ is used to make ‘Brass’

Similarly ‘Copper’ is the metal which is used
to make ‘Bronze’.

Hence, option (B) is the correct answer.

5. Ans. D.

As

192 + 19 = 380
Similarly

132+ 13 =182

Hence, option (D) is the correct answer.
6. Ans. D.

garage.
Hence, the correct answer is option D.

8. Ans. D.

Relationship is- Topic : Field of Study

As, Paleontology is the field of study of
Fossils.

Similarly, Botany is the field of study of
plants.

Hence, the correct answer is option D.

9. Ans. C.

As,

R D P C
-4 l +4J —4l +4l

M H L G

Similarly,

=1 38 ] G
| ped

Q o Z K
Hence, the correct answer is option C.
10. Ans. B.
Srar & geifer & Fofr gaif &1 Ier 9R#AT g,
U g 1 Hol a9 qRI B
zafav, faFeT B T8 3 B
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11. Ans. C.
15 +2 =17
23 +2=25
Hence, the correct option is C.
12. Ans. C.

Alphabet| A | B C |D |E F G |H (I J

Position | 1 2 3 4 5 6 7 8 9 10 |11 |12 |13
value

Alphabet | Z Y |[X (W |V (U T S

Position |26 |25 |24 |23 |22 |21 |20 |19 |18 |17 |16 |15 |14
value

i

)

3_1-<D
c»clncn
gll 1]
0w >» <«

»
1l
T

|_<

6=C

K-6=E

safow, fdwey C T8 3| gl

13. Ans. D.

A chassis car is an older automobile usually,
the chassis car moniker applies to vehicles.
The skeleton acts as a scaffold by providing
support to the soft tissues that make up the
rest of the body.

Hence, option (D) is the correct answer.

14. Ans. B.

As Nephrology is the study of kidney.
Similarly Ophthalmology is the study of eyes.
Hence, option (B) is the correct answer.

15. Ans. B.
As,
L E N O v o
_7l+6l -5l+i -3i +2l
E K IS S Q
Similarly

E I N G E R
7| +6 ;Iql -3 +zl
% \£ I K { T

Hence, the correct answer is option B.

m BYJU'S

16. Ans. C.

As Candle is used for lllumination.

Similarly,

Refrigerator is used for cooling.

Hence, the correct answer is option C.

17. Ans. B.

As Lepidopterists is the field of study of
Butterflies.

Similarly,

Deltiologist is the field of study and collection
of Postcards.

Hence, the correct answer is option B.

18. Ans. B.

Alphabet | A B C D E F G H 1 1) K L M
Position | 1 2 3 4 5 =] 7 8 9 10 11 12 13
value

Alphabet | Z ¥ X w v u T 5 R Q P (e) N
Position | 26 25 24 23 22 21 20 19 18 17 16 is 14

value

R+1=8

M-1=1L

S+2=U

Therefore, L-1 =K, L+ 1=M&H-2
F — KMF

Hence, option B is the correct answer.
19. Ans. A.

Since ‘8’ is the square root of ‘64’ i.e.

8 x 8 =64

Likewise, V289 = 17.

Hence, the correct option is A.

20. Ans. B.

There are 26 alphabets in English and if we

assign number to each and every alphabet

starting

from ‘A’, ‘B’, ‘C etc., it will appear to be:
A=1, B=2 C=3 D-=4... likewise, till
Z =26

O+2=Q
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F+2=H
F+2=H
l+2 =K
C+2=E
l+2=K
A+2=C
L+2=N
Likewise,
L+2=
A+ 2
N + 2
G+2
U+ 2
A+ 2
G+2-=
E+2=G

Hence, the correct option is B.

21. Ans. C.

There are 26 alphabets in English and if we

N
C
P
I
w
C
I

assign number to each and every alphabet
starting

from ‘A’, ‘B, ‘C etc., it will appear to be:
A=1,B=2 C=3 D-=4.. likewise, till
Z =26

S-1 =R

P-1 =0

-1 =H

N-1 =M
S-1=R
T-1 =S
E-1=D
R-1 =Q
Likewise,
S-1=R
E-1=D
M-1 =L

m BYJU'S

E-1 =D

S-1=R

T-1 =S

E-1 =D

R-1 =Q

Hence, the correct option is C.
22. Ans. D.

There are 26 alphabets in English and if we
give assign to each and every alphabet
starting

from ‘A’, ‘B, ‘C etc., it will appear to be:
A=1, B=2, C=3 D-=4.. likewise, till

Likewise,

N+2=P

5+2=1U T

Hence, option D is the correct answer.

23. Ans. A.

The above relation can be represented in the
form of:

“n3_ n2u

Therefore, in the first case, the value of ‘n’
was 5

So, 5°~ 5= 12525 = 100

In the second pair,

6°62= 21636 = 180

Hence, option A is the correct response.

24. Ans. B.

As,
P R
-7 -8
L]
| 1
Similarly,
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s U
7 -8
L M

Thus SU is related to LM.

Hence, option B is correct answer.

25. Ans. C.

There are 26 alphabets in English and if we
assign numbers to each and every alphabet
starting from ‘A’, ‘B’, ‘C etc., it will appear to
be:

A=1, B=2, C=3, D=4...... likewise, till Z=26
And, if we observe the difference between
the respective alphabet in the series given
above:

W-3=T

D+2=F

Likewise,

T-3=Q

G+2=]

Hence, the correct option is C.

26. Ans. A.

7x6 = 42

8x6 = 48

Thus, 7 : 42 :: 8 : 48

Hence, A is correct.

27. Ans. C.

Given pair - (7 : 56) = (7 : 7 x 8)

Logic: The first number is multiplied by its
succeeding number to obtain the second
number.

Similarly, (9 : 9 x 10) = (9 : 90)

Hence, option C is the correct answer.

28. Ans. A.

fear s e Aeafaf@a &

m BYJU'S

B +4
E+5
H+6=N

Sl TR,

l+4=M

L+5=Q

O+6=U

Ha:, ed A T 3T E |

29. Ans. C.

The color of the sunflower is 'yellow'.

I
«

Similarly, the color of blood is 'Red'".
Hence, option C is the correct answer.
30. Ans. D.

As, 6°+4=40

Similarly,

7%+4=53

Hence, the correct answer is option D.
31. Ans. A

The relationship is- Individual : Group
Hence, the correct answer is option a.

32. Ans. A.
As,

D H
b
- L
Similarly,

G K
l+4 14
K (o]
37T T 39X AheT A |
33. Ans. A.

As, Pen is used to write on paper, similarly,
chalk is used to write on blackboard.
Hence, the correct answer is option A.

34. Ans. C.
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A Merchant's job is to trade, and a Doctor's
job is to treatment the patient.

Hence, the correct answer is option C.

35. Ans. C.

As,

8%+2=128

Similarly,

12242=288

Hence, the correct answer is option C.

36. Ans. D.

o8 9o,

A TaE ¥ geated §

34 YR,

3YUR TAELY-oTH F TFafad ¢ |

3d: Her 3 fadkea D § |

37. Ans. C.

The kidney job is to remove waste. The
excretory system of it removes excess,
unnecessary materials from the body.
Similarly ‘Heart’ purifies our blood and supply
blood to the whole body.

Hence, option (C) is the correct answer.

38. Ans. B.

As, 252-25=625-25=600

Similarly, 182-18=324-18=306

Hence, the correct answer is option B.

39. Ans. B.

Gynecology is the medical practice which
health of the
reproductive systems and the breasts.

deals with the female
Similarly, Paediatrics is the medical practice
which deals with the health of Children.
Hence, the correct answer is option B.
40. Ans. A
As, the

Communication.

Telephone is used for

Similarly, Television is used
Entertainment.

Hence, the correct answer is option A.
41. Ans. C.

As,

(4+3)%=49

Similarly,

(7+3)?=100

correct answer is option C.

42. Ans. D.

As, 477/53=9.

Similarly, 351/39=9.

Hence, the correct answer is option D.
43. Ans. A.

Relationship is- Cause: Effect
‘Hard work’(Cause) is related
‘Success’(Effect) in the same way
‘Crime’(Cause) is related
‘Punishment(Effect)’.

Hence, the correct answer is option A.
44, Ans. A.

As

212 +1 = 442

Similarly

16% + 1 = 257

Hence, option (A) is the correct answer.

45. Ans. D.

As,

81 : 63

8+1) x(8-1) =63

Similarly,

74 : 33

(7 +4) x (7 -4) =233

Hence, the correct answer is option D.
46. Ans. C.

As Dinar is the currency used in Iraqg.

m BYJU'S
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oS C TR
Similarly, Similarly -
Kyat is the currency used in Myanmar. D G E o
Hence, the correct answer is option C.
+1 l ’?’l +5\L f?l G J I L :
H x ¥ x ;
Sirnilarly, So ? = GJIL i

’ I X ‘ S t i tion C :

" l '3l +5L '?l o correct answer is option C. 5
50. Ans. D. i

! " ° ° [(9+7)/(1+3)P°
Hence, the correct answer is option D. =[1 6/4]3
48. Ans. D. =43
As Virus is the main cause of Chickenpox =64
infection/disease. In the same way,
Similarly, (6+9)/(2+ 1)
Fungus is the main cause of Ringworm =[15/3]®
infection/disease. =53
Hence, the correct answer is option D. =125
49. Ans. C. Thus, 9137: 64 :: 6219: 125
In this question, we show that- Hence, option D is the correct response.
M O X T
+3 |+3 |+3 [+3

P R A W
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